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Genetic Algorithm 

 0: create the initial population of fixed size P, depending on the population 

   initialization option (variant); 

 1: randomly choose R population members and (try to) extra improve 

   the best one out of R selected members; 

 2: select parents ,  from the existing population; 

 3: apply crossover to  and , get the offspring ; 

 4: improve the offspring , get the improved offspring ; 

 5: if the offspring  is worse than both its parents ( and ), 
   then it is extra improved; 

 6: update (replace) the population; 

 7: if the current generation number is less than the 

   pre-defined maximum number of generations, G, then go to 1, 

   otherwise the algorithm is stopped. 
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